HATFIELD & HATFIELD

ATTORNEYS AT LAW

KATHRYN K, HATFIELD JOHN B. HATFIELD, JR. CYNTHIA A, HATFIELD 219 W. WASHINGTON STREET

GREENSBORO, NORTH CAROLINA 27401

TELEPHONE (336) 273-0589 FAX (336) 273-9238

September 8, 1998

Mr. Morrell Pridgen Legal Media Services 5111 Coltsfoot Road Greensboro, NC 27455

Dear Morrell:

Enclosed is our check in the amount of \$140 for the three invoices.

Thank you very much for your help in the Kimble case.

Very truly yours,

John B. Hatfield, Jr.

JBHjr/ph Enclosure

The state of the s	The state of the s
HATFIELD AND HATFIELD	30456
ATTORNEYS AT LAW 219 W. WASHINGTON ST. GREENSBORO, NC 27401	66-112/531
PAY TO THE ORDER OF LIGHT MEdia Struce	DATE 7/0/10 \$ 140.00
One wenned folky +00/	DOLLARS DOCUMENTS COMMENTS
BRAT BRANCH BANKING AND THUST COMPANY 201 WEST MARKET STREET GREENSBORO, NC 27401	KATHRYN K. HATFIELD OHN B. HATFIELD
FOR 3 invoices/kimble - Vita	Chat That Gery M

Legal Media Services

5111 Coltsfoot Road Greensboro, NC 27455 (910) 288-6702

TO:

John Hatfield, P.A.

DATE:

August 27, 1998

RE:

Print Services for John Hatfield, P. A.

This is a receipt for print services you requested. Enclosed you will find the two poster copies for your client. I hope this will be helpful to you in your case. The cost of the services above is \$39.00.*

Make check payable to: Legal Media Services

Please mail payment to address above.

Thank you in advance for your cooperation.

Morrell Pridgen, AGCV

* For the Kimble Court Case

Total \$39.00

* 2 poster @ 19.50 = <u>\$39.00</u>

Legal Media Services 5111 Coltsfoot Road Greensboro, NC 27455 (910) 288-6702

TO:

John Hatfield, P.A.

DATE:

July 8, 1998

RE:

Video, Audio & Print Services for John Hatfield, P. A.

This is a receipt for the video, audio and print services you requested. Enclosed you will find the videotape and audio cassettes copies for your client. Also enclosed the printed posters. I hope this will be helpful to you in your case. The cost of the services above is \$91.00. *

Make check payable to: Legal Media Services

Please mail payment to address above.

Thank you in advance for your cooperation.

Marrell Fridgen

*4 poster @ 14.00 = \$56.00

2 video @ 10.00 = \$20.00

3 audio @ 5.00 = \$15.00

Total \$91.00

Account past due Please Pay Thanks MP

Legal Media Services 5111 Coltsfoot Road

Greensboro, NC 27455 (910) 288-6702

TO:

John Hatfield, P.A.

DATE:

August 26, 1998

RE:

Audio Services for John Hatfield, P. A.

This is a receipt for the audio services you requested. Enclosed you will find the two audio cassettes copies for your client. I hope this will be helpful to you in your case. The cost of the services above is \$10.00.*

Make check payable to: Legal Media Services

Please mail payment to address above.

Thank you in advance for your cooperation.

Morrell Pridgen, AGCV

Dr. Wilmington Conversation with John Hatfield, P.A.

* 2 audio @ 5.00 = \$10.00 Total \$10.00